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- Candidates should fill their Application No., name and other details in the space
provided in the OMR sheet. Darken the circle under the application number,

- Please darken your paper code, depending upon the set of paper provided to you.
Use Ball Point Pen (Blue or Black) to fill up or darken all the Relevant Circles/Boxes
on the OMR Sheet carefully, ostherwise your Answer Sheet will be invalidated.

. Please darken the most appropriate answer/response chosen by you in the
corresponding circle against the question No.

- If you darken more than one circle against a question, the Answer/Response to that
question will be invalidated and no mark will be assigned to you for that guestion.

» Please do not make any other marks ELSEWHERE on the Answer Sheet or else the
Answer Sheet will be invalidated.

- Candidates found guilty of using unfair means of any nature shall be liable for
disciplinary action and their answer sheet shall be rejected.

+ Please also write your Application Number and put your signatures in the boxes given
at the top of question paper.

- All questions are mandatory. Each correct answer shall be awarded one mark. 0.25
mark shall be deducted for each wrong answer.

+ Rough work is required to be done on question paper only and no separate sheet will
be provided for this purpose.

- If there is any sort of ambiguity/ mistake either of printing or factual nature in Hindi and
English version of the question, the English version wiil be treated as standard.

S.N

Question in English

Which of the following spellings is correct
(a)existance

(b) existence

(¢)existanse

{d) existanc

Which of the following spellings is correct for a page in a book?
{(a)foreward

(b) forword

{c)forworde

(d) foreword

The following sentences three possible substitutes are given for the underlined part. If one of them is better
mark the option (a), (b) or (c), If none of the substitutes improves the sentence, mark (d) as your response

My legs are aching now because I'm playing since five o'clock.

(a)l played

(b} I've playing
(c)I've been playing
(d) No Improvement

wa%ﬁél‘;m alfte 7@ T W@
vformation given under RT! Act
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The following sentences three possible substitutes are given for the underlined part. If one of them is better
imark the option (a), {b) or (c), If none of the substitutes improves the sentence, mark (d) as your response
\When mechanic repaired the car, he took it out for a drive.

(a)had repaired

(b) has repaired
(c)have repaired

(d) No Improvement

Antonym of Assuage is:
(a)Economical

(b) Aggravate
(c)Delicious

(d) Demolish

Antonym of Abrasive is :
(a)Begin

(b) Care

(c)Kind

(d) Bear

Give the synonym of Reticent:
(a)Introverted

(b) Reverse

(c)Allow

(d) Obey

Choose the alternative that best expresses the meaning of the expression in bold:
Hang Together

{a)Be united

(b) Live together

(c)Hand with each other

(d) Go together

Choose the alternative that best expresses the meaning of the expression in bold:
Sachin has had a good innings in cricket.

(a)Fine experience

(b) Ultimate success

(c}Long and successful spell

(d) Victorious win

10.

It started to rain while we tennis:
(a)are playing

(b} were playing

(c)had played

(d) have been playing

1L

| know all about that film because I .....it twice :
(a)saw
(b) seen $ e b

(c)had seen

(d) have seen \nform ation give
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12

He asleep while he was driving.

(a)fell

(b) falls
(cifells

(d) has fallen

13.

Select the word with correct spelling:
(a)Ubiqutous

(b) Ubequitous

(c)Ubiquitous

(d) Ubequitus

14.

In the following sentence find out which part of the sentence has an error.
| have {a)/to usually reach {c)/ the office by 9:30 AM (C) / No error (d)

(a)l have

(b) to usually reach

(c)the office by 9:30 AM

{d) No error

15.

Choose the word which is the MOST OPPOSITE {Antonym) in meaning to the word “Effeminate”
(a)Feminine

(b) Androgynous

(c)Soft

(d) Manly

16.

Choose the word which is the MOST SIMILAR {Synonym) in meaning to the word “CONSENT"”:
(a)permit

(b) factious

(c)prate

(d) rein

17.

Choose the word which is the MOST SIMILAR (Synonym) in meaning to the word “Summit” :
(a)Cohort

(b) Defray

(c)Peak

(d) efface

18.

Fill in the blanks with a suitable word in the following sentence: -

Ambedkar’s thirst for knowledge, his passion for books and his.................. were unique.
(a)greed

{b) manipulation

(c)recognition

{d) erudition

19.

Which of the word in following group of words is wrongly spelt?

(a) Wrought

{b) Braught

(c)Brought

(d)Bought Y

20.

'Which of the word in following group of words is wrongly spelt?

(a)Which

(b) Wich - - ;
() Witch ~» -, . T ‘m_@.‘n o
(d) Wicked M sy M

""‘;Ea

3 Ut
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21.

Find out the part which has an error in the following sentences. If there is no error, your answer is (d).
(a)You can not withdraw

(b) all your money until

{c)you give a prior notice.

(d) (d)

22.

Find out the part which has an error in the following sentences. If there is no error, your answer is (d).
(a)He tried

(b) to open the can

(c)by a can opener

(d) (d)

23.

He is a very timid person. (Antonym)
(a)chivalrous

(b) bold

(c)outgoing

(d) dashing

24.

Let us not aggravate the sufferings of the poor. (Antonym)
(a)advocate

(b) appreciate

(c)alleviate

(d} abbreviate

25.

The acerbic remarks of the manager were unwarranted. (Synonyms)
(a)bitter

(b) furious

(c)arrogant

(d) childish

26.

The chairman conducted meeting with aplomb. (Synonyms)
(a)arrogance

(b) annoyance

(c)poise

(d) authority

27.

The inexorable demands of the workers brought the company to a close. (Synonyms)
(a)unreasonable

(b) relentless

(c)meonetary

(d) violent

28

The two sisters look so that it is difficult to tell one from the other.

(a)same
(b) similar
(c)identical
(d) alike

29

The lions in the Gir forest are protected as they come under species.
(a)dangerous
(b) engendered

-~ ATTE] ki1

o LIS B
gy S ndar

. wen B
AT 0o

(d) endangered

nn W
-

L -

(c)enamoured ;
:  ® aEd T

»

L
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30. |Indications are that the government is to the prospect of granting bonus to the striking
employees.
(a)relieved
(b) aligned
(c)obliged
(d) reconciled
Q. Question in English 9. . e fedr A
No.
31. Which type of radiations are used in treating 31. mﬁﬁa?mﬁﬁm g &
muscle ache .. fafrzoT &1 3ueT P STaT & -
(a)uv (a) 74T
{b) Microwave (b) ATSshIaG
{c)infrared (c) 3PS
(d) X-ray (d) TFE-Y
32. |Molasses Basin’ is referred to .. 32. AR R F g fFaramarg !
(a)Mizoram (a) e
(b) Arunachal Pradesh (b) OIS W
{c) Assam (c) 338H
(d) Kerala (d) HTT
33. |What was the theme of World_Hearing Day 20217 | 33. fared o1 fdaw 2021 &1 fAwg &7 4r?
(2)Hearing care for all, Rehabilitate, Communicate (a) Wl & fow > L 'S F ;
(b) Hear the future (b) arfasT g
{c)Allow to Hear (c) A A RS
(d) Your voice is important > i
(d) 3TThY 37TeTST HEeIqoT &
34. |Recently ‘YouTube’ has introduced one feature 34, F—,;;gﬂq . YT A U PRI Y ATy
called: SN
{a)Runtime reminder (@) TTCTEH RaATSs
(b) Bedtime reminder (b) S5cTSH RAEN
(c)Uptime reminder HyersH RAES
(d) None () )
(d) IS Y
35. |Who is the present chief justice of India : 35. IR & TAATT HET ST FHieT &
2
(a) Nuthalapati Venkata Ramana (a) 2 et ahe THOT
(b) Ranjan Gogoi (b) LI Bﬁiﬂlé
(c)Dipak Misra () Eraes e
(d) Sharad Arvind Bobde )
(d e IRFdgaEs
36. Which of the following is known as ‘sunshine 36 fFefafea A AR Yy feama s ama
vitamin’? STedT
(a)vitamin A ST &2
{b) Vitamin B12 (a) faerfa=
{c)Vitamin C (b) faerfa=T 12
(d) Vitamin D (c) faer@er &
(d) faeriA= & ,
[ g
Wﬁ W T\ Act
- e" RT
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'AYUSHMAN CAPF’ scheme is not applicable to | 37.
which of the following police forces ?

STSATA HTITE It i faea 7 3 o

MERECAEILC kS
a)Border Security Force (a) Qtﬁmgmm
(b) Sashatra Seema Bal (b) TerT WYAT ITeT
(c)Delhi Police
(d) Indo Tibetan Border Police (c) fereen .;.”Em
(d) R fesrar e yiaw
Dr. V. Shanta, who died on January 19,2021 was | 38. o T S A
an iconic figure in the field of : ST & i, 19,2021 I 1 EhTé an,
d 39 819 # U Jiaiead eafad O
(a)Cl?assical Singer (a) STERT T
(b) Literature R
(c)Medical oncology (b) < &
. (c) RisFHa JTepraran
(d) Classical Dance
(d) AMEHT T
39. [The 51st edition of International Film Festival of | 39. m e FETcET T T
India was organised from 16th to 24th January c 3 ‘q'vT >1ar 163 24
D021 iMoo, AN 2021 I ... H 3mtora frar arar am
(a)Chennai (a) TeoTs
(b) Hyderabad (b)
(c)Goa (c) ?ﬂ?lT
(d) Mumbai (d) Ji?ré’
40. [Khadi Prakritik Paint was launched on January 40. E‘lﬁ'wﬁ?ﬁ?ﬁ 12 TG 2021 T Al BT
12, 2021. It is based on: I AT| TE 30 R IIRT
(a)Cow dung (a) 31T T 3R
(b} Natural Flowers EIEIGER T
(c)Certain types of soil () aémtgﬁrﬁw
(d) Barks and leaves of plants (d) éfﬁaﬁ{mﬁhqﬁm
41. |Ustad Ghulam Mustafa, one of the finest 41. et : ?
Hindustani classical vocalists died in January et 77 ERAREY Te 3 .
2021: AT T STeTady 2021 AT BN TS |
(a)He was a torchbearer of the Rampur 2
Sahaswan Gharana (a) I& TAY HHATA B *Wﬂ@ gfafafer &
g)!ial:aenv;as a torchbearer of the Banaras (b) T8 mwﬁ%wsg@ sfafafr o
(c)He was a torchbearer of the Bhopal Gharana (c) 3T sﬂqmmé?wﬂm giafafer
(d} He was a torchbearer of the Gwalior Gharan (d) agmﬁmurﬁ%wg@ R o
Which among the following four indigenous 42. FeRRdar @i ddidasisaraad 2ar

sports that has been included in the ‘Khelo India

Youth Games 2021’ is predominantly played in S:IRT{?:IET@F{T 2021 A fhar I g, AT T

Madhya Pradesh and Maharashtra? A 7 9w AR AGRISE & W1 Arar g

(a)Gatka (a)

(b) Kalaripayattu {h)w

(c)Thang-Ta IRT-T LS8

(d) Mallakhamb i @
() FewEsT rTt &7

T P
fot®
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43, hich of the following is the major constituent | 43. RN FT HAE Ueah AeIfQf@d da Sl g2
of biogas? g 31‘5’? 2.
(a)Carbon Di-oxide (a) SULELES
(b) Nitrous Oxide (b) TS H 3TFHISS
(d) Oxygen oy
(d) JTeFHTSTeT
44. JAccording to the Koppen climate classification, | 44. - o "
the letter code CFA denotes ? i Ial aﬁla!“[’y“[ﬁg @
% U fASAd FAT g !
(a)Tropical Wetlands — o3
(b) Humid Sub-tropical climate [2] W 39 B e &
(c)Tundra Climate (tc]}éET Sil :}
(d) Tropical wet and dry climate” S ; i
(d)FSoTRTEE e 3T 3 ek Sefarg
45. [Which among the following are the main 45. e 1T g9 2021-2022 ﬁfgﬂ'fﬁ—a'm ARG,
interventions envisaged under the Scheme .
‘Swachch Bharat, Swasth Bharat’ as announced TS A ATl a'TEIEiEI Refafad A8
in the Union Budget 2021-2022? hieT @ T gEaLTa 8?
(i) Source segregation of garbage. 3
(ii) Reduction in single use plastic. (i) Fr ) I
(iii) Bio-remediation of all legacy dump-sites. (i) Tehel 3TN CATIEEH H hal]
(iv)Complete siudge management and waste (iii) mm@_m@rﬁa—_qﬂﬁml
water treatment. : 2,
(iv) Pros ggereT 3T 39frse o 37w )
(a)Only (i) & {ii)
(b) Only (i), (ii) & (iii) (@) Fad (i), 3T (ii)
(c)Only (i1}, (iii) & (iv) >ae il (i
(d} (i), (i), (iii) & (iv) i.e. All the above. (b] (i), (i) 3T i)
(c) Fhad (ii), (iii) 3R (iv)
(d) (i), (i), (iii) IR (iv) AT ST |87
46. |Which of the following events is not a 46. A f@ad & @ Sla d gear deea g1 &7
transaction?
{a)Mr. Employer paid salary of Rs.9, 000 to Mr. (a) A feyanerar = 4 3 I T 9000 T T
Employee. ada fear)
(b) Rahul sold his bicycle to Rohan for Rs.600 b X 37gA Fr ;
g argfarel Vg1 &1 600 T4T H
(c)Abhijeet gifted a book, priced at Rs.800, to (b)
Amit. S

(d) None of the above

(c) ITANT o AT 1 v fraE i &,
ST figd 800 T4 &
(d) 39T A J IS T

/[
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47. [The ratio which determines the profitability 47. Qmma; gﬁ%ﬂﬁ'ﬂ'[#m EEIEGH
from the shareholders point of view is :
(a) Return on Investment (a) ﬁ?ﬁﬁrwarq#r
(b) Gross Profit Ratio (b) Tl HTHH?-TCH?{
(c) Return on Shareholders Funds (c) Q}?}@—gﬁtﬁg g7 gy
{d) Operating Profit Ratio (d) SdTel=d ST 3e39Td
48. [The unfavourable balance of Profit and Loss 48. ST R BTl Wi Haﬁaﬁrwé
account should be: (a) STTTHT | geTaT 7147
(a)Subtracted from Liabilities (b) qsﬁ:ﬁm?mr
(b) Subtracted from Capital (c) ISAT TRy J geTar AT
(c)Subtracted from Current Assets (d) Tt & ST AT
(d) Added in Liabilities
49. [The loss on sale of old motor car is debited to: | 49 qﬂ;ﬁmmﬁﬁ-@rwmmgﬁﬁ T
2
(a)Profit and Loss Account A e:
(b) Motor Car Account (@) AT 3R g1f @rar
(c) Depreciation Account (b) FIeX FR @1
(d) Capital Account
(c) FeaeTE @raT
(d) ST IS
50. |Profit on sale of furniture in non-profit 50. m-mmrfrmﬁwﬁmﬁﬁaﬁrww
organisation is to shown on: = g # fewar rar &
(a)The credit side of Profit & Loss A/c (a) o7 IR g1y @ Frfee uay
(b} The credit side of Income & Expenditure A/c (b) 3T IR TT @S FTFeE ger
(c)The receipts side of Receipt & Payment A/c (c) THE IR spra= @ @rar 1 g 9aT
(d) None of the above (d) SHFT H T FE &
If preference shares are issued redeemed at fe by
51. |premium, then such premium may be provided STITHeAT AT ¥ MiFTH WS.:) e
out of the: 51. fPaTSrar g, A sa g FhRaA e & @
{a)Share Premium Account ; = %:
(b) ) Share Capital Account (a) R NAIH @rar
(c)Profit and Loss Account (b) thpﬁm
(d) Capital Redemption Reserve Account
¢) T 3R gifey @rar
(d) Fee ReFaere Rad e
52. [In the Balance Sheet of a Company, Assetsare | 52. Rl U=t Fr soig Me &, graR s sad &9
arranged in the order of their:
& i eqafEyd fonar SATar g:
(a)Liquidity (a) AXeTaT
{b) Book Value (b) T de1
(c)Permanence = S
(d) Market Value (c) FRTTen 3 AT
(d) SR e P T
‘e o B ) T
#ﬁl. -..w*.‘ﬂ‘ '
, .."' L) -
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53. What does “I” in IGST stands stand for? 53 a8, 3SShTEd 2 i T
(a)Internal —f
(b) Integrated (@)
(c)Internal (b) Hﬁ?ﬁ-‘l‘
fd) Intra (c) 3R
(d) g7
54 |What is the maximum limit of deductions 54. U /s 80C H Seldr #1 31 ds e 1 ,
lavailable U/s 80C like LIC premium, contribution 3Udet § S/ LIC NATH, PF 3 A9, PPFH
to PF, contribution to PPF etc.: TSI 3
(a)Rs.1, 00,000/- (a) Rs.1, 00,000/-
(b) Rs.1, 20,000/- (b) Rs.1, 20,000/ -
(c)Rs.1, 50,000 (c) Rs.1, 50,000/
(d) Rs.2, 00,000/- (d) Rs.2, 00,000/ -
55  |Which of the following will be excluded from the| 55. feTaf@a 7 @ ha osT 3RfFaa F agd
computation of aggregate turnover under GST
Act? Tl RIS T 0TAT & TG IWT SAT?
(a)Value of taxable supplies (a)mmmmm
(b) Value of exempt supplies (b) FT ;:ﬁ;zz
(c)Non taxable supplies (c) gﬂ?{m_’»ﬂﬂﬁ
(d) Value of inward supplies on which tax is paid (d) mmwm e REd IS
on reverse charge basis mqtaﬁrﬁmﬁﬁmmg
56. |HRAis: 56. T HRTE:
(a)Fully Taxable (@) T g & H A9
(b) Partly Taxable (b) 3R &9 § FT AT
(c)Fully Exempted (c) ‘ﬁf?ﬂ??f&'ﬂ'
(d) None of these (d) m#ﬁé
57 | Name of a company can be changed by: 57. T it 1 1797 3H& CaRT ST T Fhal
g:
(a)An ordinary resolution (a) WWW
(b) A special resolution (b) U AT TFeq
(c)An approval of the Central Government (c) WWWW
(d) A special resolution and with approval of the (d) U fad9 wara mdc‘{?ﬂld Fg TR
Central Government ﬁ:qsﬁﬂ'é;m
58 Minute’s bock is signed by: 58. PEErd @rwwmm%v ST &
(a)Company Secretary (a) FUT G
(b) Chairman (b) 3TETET
(c) Shareholders (c) YIRS
(d) None of the above (d) 3URNEFd H T BIS 76T
/
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59. [internal auditor is appointed by: 59, T CECIRS AN E D Eﬂﬁaﬁmﬁ@"ﬂﬂm
GﬁFng
a)The Management (a) 9aT
(b) The Shareholders (b) SRR
(c)The Government. (c) EIHR
(d) The Statutory Body (d) FITaTa® Aary
60. JAuditing begins where ends : 60. e AF I & TRl AT AT g
{a)Selling (a) ST=1T
(b) Inventory Valuation (b) sﬁzﬂﬂaj\vam
{c)Accounting (c) SaTFT
(d) Purchases (d) @iE
E’ invested 60% more than ‘F’ and ‘G’ Invested | 61. E' = F' ® 60% eI faaer fpar IR G P&
20% more than ‘F'. if ratio of investment time o=l A 20% e @Hdwr fFan Iy @3
period (*E’: 'F’: *G’) is 2:4:3 and the sum of profit AT HaT™ ('F, °F, 'G ) &1 H9IT 2: 4: 3 g 3R
61 [sharesof ‘F and ‘G'is Rs. 8550.00, then find the F' 3R ‘G’ & Q18T &7 AT | §550.00, Y E.
profit share of ‘E.’ ? 18T X =T gem
(a) 3600 (a) 3600
(b) 3400 (b) 3400
{c) 3200 (c) 3200
(d) 3000 (d) 3000
62 |, 2 1 62. 2 1
Evaluate 16 =% of 600 gm - 33 _ % of 600 I FT 163 % - 180 I &7 333 %
'180gm T HedThed § ?
(' ) (a) 30 T
a)30 gm.
(b) 40 gm. (b) 40 oTH
(c)30Kg. (c) 30 feram
(d) 40 Ke. (d) 40 foram
63. |Ina camp There is a meal for 120 men or 200 63. U TRAITAT 7 120 9ot A7 200 99t F T 5
Children. If 150 children have taken the meal, 2
how many men will be catered to with the | afe 150 Teeit F SirTet feram %' F”a'%"’
remaining meal ? maé:mﬁmﬁw‘ﬁ@mﬁmw
(a) 30 (Z) <L
(b) 40 (b} 40
()50 (3) 50
(d) 60 (d) 60
64. [(23-135)/4="7?/(-6) 64. (:3-234)/d= ? /(-6)
(a) 7 (a) 7
(b) 168 (b) 168
(c)-168 (c) -168
(d)-70 (d) -70
M A ‘)ﬁi
1:(,\,!3}:""'“ kils QT‘ p‘c;
i\ ""‘?‘?’:f’ : = n"‘a"" Fi=t s
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65. [(15)% (5)° +V(625+44= (?)2 65. 15)2 (5)? +V(625+44= (?)2
L/5) (5P L TFAC 4Ll PO Tl o--<saml S
(c) v13 | 625154 @vizs  RRT _4{} 2anfx
(d) 13 (d) 13
66. Which one of the following number is exactly | 66. fAralafea A A Fla A aear 11 a fasrsa g2
divisible by 11 ? (a) 1552
(a)1552 (b) 1331
(b) 1331 (c) 1882
(c)1882 (d) 1902
(d) 1902
67. [The total number of the factors of 24 is : 67. 24 & FRHI HI G5l FEAT &
(a)8 (@) 8
(b) 7 (b) 7
(c)4 (c) 4
(d) 9 (d) 9
68. [Findthesumof?7.7+72.77+7.7777+17.777: 68 7.7 + 7.77 + 7.777 7 + 7.777 1 AT
(2)28.2828 EIGECAI L
(b) 28.2847 (a) 28.2828
(c)30.0247 (b) 28.2847
(d) 31.0247 (c) 30.0247
(d) 31.0247
69. |If the wages of 12 men for 30 days be X 4200, | 69. afe 30 fedl & faw 12 yosi & Hagdl
the wages of 18 men for 24 days is..... 4200 &, ar 24 Rt & fav 18 TSt Y FHelgll
(a)% 5,040 !
(b) % 3,200 (a) T 5,040
(c)X 4,800 (b) T 3,200
(d) 26,400 (c) T 4,800
(d) T 6,400
70 [The average of 5 numbers is 496. If two of them | 70. ] H@T&ﬁ FT 39T 496 g1 AT 398 ¥ ar
are 117 and 140, find the average of remaining H@T}ff 117 3k 140 & Fﬁ QY T
three numbers: FEGTHT F1 AET AT Y
(a)239 (a) 239
(b) 717 (b) 717
(c)741 (c) 741
(d) 637 (d) 637
71 Kareer;ahwent to;chool for 216 dac}ts;n a fullb 71 q\iwmﬁa‘ﬁm 216 ﬁ;ﬁﬁ;ﬁv@ﬂé'
year. If her attendance is 90%. Find the number . .
of days on which the school opened: afe Faehr 3UREUT 90% & | A 37 Al 1 HeT
ST HIFAT T R Gon:
(a)220 (a) 220
(b) 200
e 200
(d) 260 [e)2ile
(d) 260
72 [The average weight of 4 men isincreased by 3 | 72. 4 tﬁuﬁm R IR E ol I | ro| RS CRC T

kg when one of them who weigh 120 kg is
replaced by another man. What is the weight of
the new man?

(a)140 kg

(b) 150 kg

(c})132 kg

(d) 160 kg

e foraer aat= 120 fhell § a8 Tt s eafaa
CarT gfaeuia &Y f&ar Arar | v e &

ST FATE ?

(a) 140 ferarr

(b) 150 feram T aRBR sy
13200 Information given under
(d) 160 fear
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73

A, B and C can do a piece of work in 20, 30 and | 73.
60 days respectively. In how many days can A do
the work if he is assisted by B and C on every
third day?

(a)12 days
(b) 15 days
(c)16 days
(d) 18 days

A, B HI C AU 20, 30 3R 60 RAT 3 v 1y
U F TR ¢ A ATAF X R 8 HR ¢
9 AT U Y ag fhan RAt st o
qFHdT &2

(a) 12 fesT

(b) 15 2T

(c) 16 fo=1

(d) 18 fe=T

74

Find the missing number in the given series: 6, | 74.
11, 18, 27,38, __, 667

(a)58
(b) 54
(c)51
(d) 59

&Y 1 S 7 Fod TEAT M FSIT: 6, 11, 18,
27,38, _, 667

(a) 58
(b) 54
(c) 51
(d) 59

75

The sum of the ages of 5 children born at the 75.
interval of 3 years each is 50 years. What is the
age of the youngest child?

maaﬁﬁmwﬂmgﬁsaaﬁﬁm
AT 50 99 § | A9 B de A 3HFATE?

(a) 4 GIT
{(a)4 years
(b} 8 years (b)83"§
(c)10 year (c) 1099
(d) None of the above. (d) Wﬁ@'aﬁgﬂﬁl

76 |[Universities are assessable under the income tax| 76. fareafagaray s 3RTTa S aaa

act as : HodiHhd A9 g &
(a)An Individual {ai\UTﬁEZTﬁ-‘H
(b) An artificial juridical person (b) FREAA RF cafFa
(c)A local authority (c) u%wwﬁzrmﬁm
(d) None of these {d}?ﬂﬁﬁﬁé’ﬁﬁ

77.

received by wife is not taxable.. 77.

(2)Pin money

st Z@RT STed AT AR
(a) =7 &=

(b) Compensation (b) 3T
(c)Gift 3ER
(d) Salary o

d) 3d=T

78.  [The highest Administrative Authority for Income | 78. AT H T & a0 gafeg wonafas

Tax in India is___.

eTfaeReT_§
(a)Finance Minister (a) B ==Y
(b) President of India (b) gm?fa;ugqﬁ'f
(c)Director of Income Tax (c) 3T A
(d) CBDT (d) 2T

.‘)s"-
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79. A partner in a firm, is drawing Rs 500 regularly | 79. | T&h B8 H U&h ATINER, 8 AdleY T 16 AT IR -
on the 16th of every month. He will have to pay & IfHT 9 F 500 I HT HTEI0T FTIET
interest at the given rate in a year on Rs 6000 t1 39 a7 39S & AT 6000 TG W TH
for the total period of : m;&rﬁwmmwmmm [

(a)5 months (a) 5 Hg=Y
(b) 6 months (b) 6 T
(c)7 months (c) 7 ASIA
(d) 12 months (d) 12 7Y

80. A firm wants to know the Degree of Operating | 80. ﬁmﬁ@am@%mwﬁ%ﬁ{
Leverage (DOL) with the foliowing information: TP HARFE Nals (EEive) & Seer
Current level of sales : 6000 units; Break-even TIEAT &: Tarshl T Tt TR 6000 SHISAT;
point sales : 4000 units. What would be the DOL Sh- ga?-ftngzw 4000 ‘Jﬁtq:rgqqm DOL
3 FITGIRM?

(a)1.50 (a) 1.50
(b) 0.67 (b) 0.67
(c)3.00 {c) 3.00
(d) None of the above (d) SIRFT H A IS AT

81. |[Which of the following committees is intended | 81. | IR H FIfEH YN F FIHFTA FHY FHTT
to review the working of the monetary system T & T AR @Aad dFla T aRg
in India? BFTE‘.'?Rﬁ off 7

{(a)Narasimham Committee (a) Riagaafafa

(b) Tandon Committee b) T8-1 BTATY

{c)Sukhamoy Chakravarty Committee (c) maﬁ;ﬁﬁ%

(d) Deheja Committee {d) Q%ETH&T%

82. [The Competition Act, 2002, seeks to regulate.. | 82. | giaeqer 3RfaaH, 2002, FFT =¥

fafrafaa = Ty Farg !

(a)Anti-competitive agreements

(b) Mergers and amalgamation (a) wiaeqef-RAeh gasia

{c)Unfair trade practices {b) faorg 3R gasea

(d) (A) and (B) above (c) mww
(d) 390 (A) 3R (B)

83. |Profit volume ratio of an enterprise is 40%. To | 83. Mmmwm HAYTT 40% ?I fashr
offset 10% decrease in selling price, how much W”?Iﬁ 10% <hY FHHT I BJTW% & TIT, fohgeT
sales must be increased? fﬁﬁ CEAGIRACI

(a)10% (a) 10%
(b} 20% (b) 20%
(c)25% (c) 25%
(d) 40% (d) 40%
84. | If debt is Rs 220, cash balance is Rs 20 and 84. | afe #1220 T9F 8,7 A 20 TUA § 3R
equity is Rs 300, then the gearing ratio is: sfFadl 300 T E, H’fﬁﬁﬁﬂm%!
(a)20% (a) 20%
{b) 40% {b) 40%
(c)50% (c) 50%
(d) 30% (d) 30%

Page 14



Interim cash inflows are reinvested at a rate of | 85. Wmmﬂm H 31afE 23X 1
return equal to the internal rate of return is the QI g fager Wi Fag. A= F AT
built-in mechanism for ... : aTg:
(a)Net Present Value Method (a) Qma?‘(m;rn—qféﬁr
(b) Internal Rate of Return Method {(b) Eﬂta Tﬁma fafer
(c)Profitability Index Method (c) FTHIETT Faai fJfey
(d) None of the above (d) 3TFT F JF FE &
Which one of the following statements is not 86. [HTof@dd ddlg areya acg a8 2
true?
(a)An expenditure intended to benefit current (a) H@a&ﬁmﬁﬁﬁﬁﬂ.ﬁ% e ¥ fRar
year is revenue expenditure. T TFET TT 8|
(b) Amount paid for acquiring goodwill is (b) HEHTGAT Yo e & faiT mmmd?]‘?[énﬁ]‘
capital expenditure. WW%]
{c)Wages paid for installation of a new machine (c) Tar 78 T2 & vuTIaT F AT Waﬁaﬁ;ﬁ;
is usually debited to wages account. W FHAR T S{T(-ﬁg’l
(d) Revenue expenditure is not intended to (d) ToiFa =37 sifasy gmﬁ} FAFF AT
benefit future period. HATT AR B
X Ltd. forfeited 20 shares of Rs 10 each, Rs 8 87. g faffes T 10 397 & 20 AT Fr =g
called up, on which John had paid application T, for e 3egel ¢« Y & oW
and allotment money of Rs S per share, of these, TS mgﬁamé;mmm
15 shares were reissued to Parker as fully paid ofer &1 S:I?Tc'-]'l?-l'ﬁﬁ?ﬂ o7, TAH 15 AIA Fr
up for Rs 6 per share. What is the balance in the T F 6 3T gaF Raad ol awa
share Forfeiture Account after the rglevant et tﬁf’f ¥ ak ot IEfea f%mT Jar |
amount has been transferred to Capital Reserve HHT-‘:I?{ IRBET TR Wmm
e A EAART F1 3 ST AT s @
. ERLRURES Fr
(a)Nil
{b) Rs 5 (a) B AT
(c)Rs 25 (b) §-\r
(d) Rs100 (c)25%
(d) 100%

X and Y sharing profits in the ratio of 7 : 3, 88. | X TUT Y& &ra oTeT WIS 9T 5:38/3 Z

@dmit Z for 3/7 share in the new firm in which Eﬁ’fﬂé‘ W&#H’Eﬂm W%W%X ¥
he takes 2/7 from X and 1/7 from Y. The new /7aarg dRYd 17 Rewraargix v 3Rz
ratio of X, Y and Z will be : a;r%q;qr;rmzﬁma gram

(2)7:3:3 (a)7:3:3

(b) 4:2:3 (b) 4: 2: 3

(c)14:6: 15 (c)14:6:15

(d) 29:11: 30 (d) 29:11:30
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89. [Cost of Equity Share Capital is more than cost of | 89. W%m%ﬁzﬁrﬁmwa?rm@
Debt because: 318 § Fifep -
(a)Equity shares are not easily saleable. (a) 3TFaET X 3T A AR AT AT B |
(b) Equity shares do not provide the fixed %b) sTFadT R [Af T s X ye=T AET F
dividend rate. | .
(c)Generally, the face value of equity shares is %}%ﬂfﬁ% %Hlazi% | Hod
less than the face value of debentures. ) ST 9 ,-33 £ e & Fw
(d) Equity shares have high risk than debts ( F)ﬁg Y Tl
950 |Profitability Index of a Project is the ratio of 90. mﬁqﬂﬁmmmw B A
present value of cash inflows to: SATE & TN FHod H [o1a] & T Heqard
gl
(a)Total cash inflows (a) ol FAhCT TG
(b) Total cash outflows (b) T Fishe; afgaTe
(c)Present value of cash outflows (c) Ay gigdarg &1 Hﬁﬂmﬂﬁ
(d) Initial cost minus Depreciation (d) IR ST HTAT § HodeH
91. |If the purchase consideration is calculated by | 91. | Ifg @iig & TR &1 [Fv = are Ffe=
adding the various payments to be made, the STATATAT ST SN IT0TAT T ST &, AT S0
method is called . FEIAETE !
(a)Lump-sum method {a}fjaﬁiﬂﬂ'ﬁ%
{b) Net-worth method (b) B ;:Larﬁﬁ}
(c}Net-payments method (c) Fd - fafey
(d) Value of shares method (d) é‘m:(ﬁfﬁ'a:r 7
92 [The following relate to the shares of a company. | 92. AL U 9T & AT T FI0T &1 ey
What is the correct order? hH ! o
(a)lssue, Application, Call and Forfeiture. (a) a1, 3‘@5; , el 3R el |
(b) Application, Call, Forfeiture and Issue. (b) 3U| e, i, et AR A, |
(c)Call, Issue, Application and Forfeiture. () FieT, 32T, 3MdeaA WEUQI I
{d) Forfeiture, Application, Issue and Call. (d) Sfscly 3mmdes, forea 3R ief|
93 [The theory of Revealed Preference was 93. Yohe g ar T 36‘23!'!8 ......... caryfauriea
propounded by.. T T 4Ty
(a)A. Marshall (a) T. &t
(b) P.F. Drucker (b) 9. &, ZFT
(c)Paul Samuelson (c) 9feT HeqTaaa
(d) R Hicks (d) .. R
94. [The basic objective of Financial Management is | 94. ﬁ?ﬁﬁmﬂﬂﬁﬁmﬁ?
(a)Maximization of profits (a) ﬂETeﬁ HT HTHIHFOT
(b) Profit Planning of the organization (b) HTST T T IﬁGrHI
(c)Maximization of shareholders’ wealth (c) AIURRT Y AU 1 HFHEFOT
(d) Ensuring financial discipline in the (d) T3 A AT T ATHA Gl Tad FAm
organization ﬁa@
3T o P
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95. |HRM is amalgam of .. 95. | AT WA YEUS A5 &1 GAAET b
(a) Job analysis, recruitment and selection. (a) sl faeeryor, st 3 o)
{b) Social behaviour and business ethics. ERE LIGIEED agR 3R IEaRs
(c) Organizational behaviour, personnel gl 3
management and industrial relation. (C) BISATHF SqaER, FfAd JareT AR
(d) Employer and employees. 3 qeY|
(d) Tarear 3k FEaEm
96. |Recruitment is concerned with the process of .. | 96. ot Tt & yitear @ wefog &
(a) Selection of right candidate. (a) T 3Fcar T I |
(b) Developing a pool of potential employees. !bl '\'-TlﬁTlﬁFf FHAMRAT F TF qoT IGEAE G
(c) Inviting applications for jobs. . :
(d) None of the above. (C) W a; m m Bﬂ?IﬁFf HIEAT|
(d) 390Fd F T F5 7¢T
97. Which of the following is not a capital asset 97. ﬁmﬁ'ﬁﬂaﬁﬁaﬁﬂ'm & USRI AT _}
under capital gains head of income? i E}?agﬁq\sﬁ?mﬂ'qﬁaﬁn%sﬁmw
gHE 87
e |
a)Stock in trade
(b} Goodwill of business (a)f&shr & Qv A
(c)Agricultural Land in Delhi (b) Emmﬁmpﬂam
(d) Jewellery (c) ﬁ.’ﬁ'ﬁﬂﬂfﬁ qA
(d) JT3TsoT
98. [Inindependent India, the first major foreign 98. AT R H, g g37 fageh ﬁmmaﬁ
lexchange crisis occurred in the year ﬂ’”g(;m
(a)1955 (a) 1955
(b) 1956 (b) 1956
(c)1969 (c) 1969
{d) 1991 (d) 1991
99. | Consider the following items: 99. | F=Tafad #et ox RarR &y
MECEE
I. Debentures I1. 9get T aram fomarar
Il. Prepaid rent . 37T sg1=r
1. Interest accrued V. (T8I e fasy
IV.{Bank overdraft
Which of them are current liabilities? 37 Q@ &l B adA SRt 2
(2)ti), (ii), (iii) and (iv) (a) (i), (i), (iii) I (iv)
(b) (iv) (b) (iv)
(c)(ii), (iii) and (iv) (c) (i), (iii) 3R (iv)
(d) (i), (i) and (i) (d) (i), (i) 3 (i)
100.  Which one is not an important objective of 100. | gaA @ g ysta s ol HTI{BE‘C‘[UT
Financial Management? ELALE gy
(a)Profit Maximisation (@) oI HTOHTHSIOT
(b) Wealth Maximisation (b) &= T FHIASHIOT
c)Value Maximisation (c) H‘Fuaffﬁmmur
(d) Maximisation of social benefits (d) TTATTSI ST T HTHgHHOT
“ a2 0%
' 11*“.\::'; : ) . !
5 l#‘ﬂ o ) .‘F" "t
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101. Which one refers to cash inflow under payback | 101. H{Wmﬁmﬁﬁﬁﬁ?ﬁm EEIR
period method? WW%‘THHT?'?
(a) Cash flow before depreciation and taxes (a) Wﬁaﬁraﬂ’r# Ugd dAFe a8
(b) Cash flow after depreciation and taxes (b) FeTeTH IR 1 &F 91 74T YaI8
(c) Cash flow after depreciation but before taxes (c) HeTgrd & 16 aifdhet 0 & Ugel Aol yag
(d) Cash flow before depreciation and after (d) Hﬁmﬁ ggo AR &R & 918 Adcl Ya1E
taxes.
102. | The concept of present value is based onthe: | 102. | gdHTA {{\H@,‘H‘q’%ﬂ'{ﬁﬂ TH 9T AR &
(a)Principle of compounding (a) mﬂ(%q@ J&T i%a\uia
(b) Principle of discounting (b) qcmﬁa}m
(c)(A) and (B) (c) (2) 3R (b) ‘
(d) None of the above (d) 39Fd H J 1S A5
103. lin India, the Commercial Banks are given license | 103. | $Rd &, aifoiicas ) w GEIRY
of operation by HdTelel &1 Eiligihl feam
(a)The Government of India (a) 3T TXFR
(b) The Ministry of Finance (b) faar #aTerg )
(c)Reserve Bank of india (c) EI'II.EEI H.iIGIé Rl
(d) Banking Companies Regulation Act, 1949 (d) sepT et fafereret Dt qH, 1949
104. Which one of the following will not affect the 104. ﬁmﬁ‘f@aﬁﬁaﬁﬂmﬁﬁﬁaﬁm
working capital? ERETTIN
(a)Realisation of cash from debtors. (a) AT ¥ APy Fr wifeaq)
(b) Sale of plant and machinery in cash. (b) 71T 7 AT 3R #7367 fa=hn
(c}Issue of equity shares. (c)éﬁ%ﬁ%ﬁﬂ'alfl HAT|
(d) Redemption of debentures. (d) BT 1 Hra=|
105. |In India, which of the following is prepared on | 105. | g &, TTH -3 (WW— 3) & feem G
the guidelines of AS-3 (Accounting Standard- 3)? R RfSfRaA T g ardax Far srar
87
(a)Balance Sheet of a Company (a) P dr Seig e
{b) Funds Flow Statement NGIERCIFREELC
(c)Cash Flow Statement (c) Awer waTg faaor
{d) Consolidated Financial Statement (d) gAfRd fadra faazor
The commercial banks do not perform one 106. aliai_?zmﬁa? AT (@ H § Ueh 11 8T
106. function out of the following: a}ilil :
(a)Mobilisation of savings (a) ST T ST
(b) Giving Loans and Advances (b) Wm:mgmma” HITATA ol
(c)Issuing Currency Notes (c) Hal el
(d) Financing Priority Sectors (d) STATHeAT 87T T faw dryor
107. At the balance sheet date, the balance on the 107. | &9 e hrad@ A, HedeTd @l & folv
Accumulated Provision for Depreciation Account iR 9TaeT= 97 9y Tﬁ% & fov =aF &
is :
(a)Transferred to Depreciation Account (a) Wm#mﬁﬁﬁ?{
(b) Transferred to the Asset Account (b) Fufa 3rF3e § ®=aRd
(c)Transferred to Profit and Loss Account (c) o9 IR g1 @ A wEaRa
d) Simply deducted from the asset in the (d) derg e A vufd A FwtN Fraar g
Balance Sheet
i qﬂ‘{\’\
® .
SRFE A
unde’ "
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108. Suppliers personal a/c are seen in the : 108. HTW?RI%&?}H@QE‘T A g@r
(a)Sales Ledger ST
(b) Nominal ledger (a) ToshT sgr@Tar
(c)Purchases Ledger (b) ATHATH &I FEIA@TAT
(d) General Ledger (c) @I Fgr@rar
(d) AT F@I@Tr
109. Long term assets having no physical existence 109. raefos Hifas gufd ﬁ?ﬂ?ﬂﬂ-ﬂé’ Hifds
but, possessing a value are called : Ffeaca Fer g, e Hegald g
(a)Intangible assets (a) mm
(b) Fixed assets (b) 3T<rer EYT
c)Current assets GEGLIGEEIS]
d) Investments (d) Aaer
110. |if you want to ensure that your money will be 110. gfer g Ig gARTT T AqEd g & ae
secured if cheques sent are wasted in the post, >
youshould: g ¥ ﬁmmaﬁcusj ﬁ#waﬁal gh] &HT
qfEd g, o e w@fev
(a)Always pay by cash (a) BERM HE I Y
(b) Cross your Cheques Account Payee only, 2 . o
Not Negotiable.” (b) YA AR I IFEC 9AT Ale AMRATEA
{c)Always get the money in person o &7 T
(d) Not use the postal service in future (C) T AT F TR T SyaTeTeT =
(d) #iasT A 31 Far F 3G o
111. [Test checking implies____ 111. 7 9fe7or &1 aregy -
{a)Checking anly a few items in detail (a) EER oaﬁ ;ﬁr #
(b) Checking each and every item (b) JAF TEG F ST FEA
{c)Checking a representative sample of items (c) aea3t & AP Fa= fr g FET
i f book e LS 1
(d) Checking a part of books (d) W%Waﬂwﬁmm
112. [Balance sheet audit is useful where 112. | SoiF fe FifZe =a7....... 3gef &:
(a)the concern is a small one (a) ATHAT HTEIE 93T ¢l &
(b) the internal check is weak (b) 3aRe ST FAIRE )
(c)the concern is a big one (c) ATHATISTE
(d) the concern is banned (d) ATHAT qﬁaﬁa%
113. Double entry book-keeping was fathered by .. 113. gmnﬁaﬁ&mmﬁ%maﬂa% :
(a)F. W. Taylor (a) Q“Fméﬂz
(b) Henry Fayol (b) mm
(c) Lucas Pacioli (c) WFW
(d) None of the above (d) Wﬁffﬁﬁgﬂﬁ
114..|All revenue incomes are credited to .. 114. | G oG 31T I W@ fohar Aarg :
a)Manufacturing account (a) fafraToT @raT
(b) Trading account (YECIREIGI
(c)Profit and loss account (c) &re7 IR grfey @rar
d) Balance sheet (d) sorg e
Qe @ .
~
AR e
pC v
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115. |In profit and loss account, if credit is more than [115. Bt K S ECIGE:R e Hisg(9egy) 2fec
the debit, the differenceis ..... ATH ﬁm%, ?—ffﬂ?ﬂ'%’
(a)Net profit (a) Qlaf;rw
(b) Net loss (b) ?‘],EfIBTﬁ
(c)Gross profit {c) Ahd ATH
(d) Gross loss (d) TFhe gifet
116. |Absolute liquid ratio is : 116. q\ﬁmﬁaﬂmﬁ
(a)Absolute liquid/ current assets (a)qﬁm Hﬁ/ﬁﬁﬁmﬁqﬁf )
(b) Absolute liquid Assets / current liabilities (b) 9ot &t Fufer / adam SaierRai
(c)Current ratio/liabilities /Assets liquid assets (c) TTe] HeuTd / eaear / got awmﬁa
(d) Current ratio/ current liabilities (d) =mey, 39T | TR AT
117. [The account format that displays debits, credits, | 117. Sye 32r & o 3 ;
balances and headings : ’ ’ IR
TAT TR .
(a)General Journal s ‘
(b) General Ledger (g) T 3 (
(c)T-Account (b) é’rE 21 ( )
(d) Ledger Account E;; AL
qS @rar
118. [Which of the following is the revenue receipt for| 118. e B
the not-for-profit-organization? 5 & fav A HIA
T ISET Wi 2
(a}Endowment Fund
(b) Government Grants S
(c)Life Membership Fee (:} §
(d) Legacies (specific) (b) Siegcted
(c) STa= FeeT Yoh
(d) faraa (fafRrse)
119. [The account which shows classified summary of | 119. .
transactions of Cash Book in a not-for-profit- agmﬁmm-am-wﬁémgaw
organization is called .. PEFGEICLIETREIRE] Tfa@'lT-IT%'
<
(a)Income and Expenditure afc
(b} Profit and Loss a/c (a) m;gic REHEL
(c)Receipts and Payments a/c (b) AT 31T 3-71’1'%;” Wl
(d) Subscription a/c :g; SRl ST Wl
120. [Payment received by a collage lecturer from 120. 99 U5 Y2 &I & iU [avafdearead &
University for setting question papers: Hg@a:am‘q SITEATAT ZaRT 9o W
(a)Salary (a) A=
(b) Income from other sources (b) 37T T @ 31T
(c)Income from business (c) STTETT | 31T
(d) Exempt Income (d) HIFaT A1

Akkkk kR FkFh kR Rk kR ko kR Rk hok ok kok ok &/
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Answer Key for post Senior Assistant(Account)-Paper Code-B

Q.No
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National Institute of Design
TR Madhya Pradesh

(An Institute of National Importance under DPIT, Ministry of Commerce and Industry, Govt. of India)

Ref. No. NIDMP/1-60/(01)/SA(A)/Rectt./2021—22 Dated: 02.07.2021

Subject: - Recruitment to the post of Senior Assistant (Accounts) in National
Institute of Design, Madhya Pradesh

On the basis of performance in written test and skill test held on 01st yuly 2021, the details

of provisionally selected and wait listed candidates for the post of Senior Assistant
(Accounts) is as under:

LSl ?_Abaication Number Total Marks {__Rgul_t_gf | Remarks

| No. | | In written Test Skill Test |

| —_—e _‘%\l___ ('_VI@(E) — — e
1| NIDMP/SRASS/00213 | 5875 | Qualified | Selected S
2| NIDMP/SRASS/00120 5575 | Qualified | WL _

| 3 | NIDMP/SRASS/00217 | 98.00 | Qualified WL

i
\

Chief Admir;istrative officer
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